
Transportation and Trade 

Partnership 

INITIAL IMPRESSIONS SURVEY ,. 
9/25/01 

. . 

o 

This is an ANONYMOUS, NON-BINDING survey designed to get your initial reactions t9 the specific design elements in the opt ian packages 
and some of the other issues facing the Task Force. The results will be used to focus subsequent discussions, present (he evaluation factors in 
a concise manner, and track our progress toward consensus. Tha~k you. 

For each Decision Tree question, you have 10 points to allocat~ between the choices. ,EXAMPLES: 'Ifyour initial impression is that "YES" is 
the clear answer - no doubt about it - you might note your impression as '.'YES : 10 and NO: 0." If yOll; are uncertain, you might note "YES; 5 
NO: 5." If you favor YES, but it's a close call, you might note "YES 6 and NO 4." , . 

Decision Tree Questions 

Question YES NO ' Comments 

lA. Will a West Arterial Road, by itself, satisfy 
the Problem, Vision and Values Statement? 
Pages 13-15 

IB. If NO, should it be considered in 
combination with other improvements? 

2A. Will Commuter Rail, by itself, satisfy the 
Problem, Vision and Values Statement? 
Page 16 

2B. If NO, should it be considered in 
combination with other improvements? 

' Y .i~ · , , 

o lO 
I 

.\0 ,D 
3. What type of o'verall transit improvements YES NO 

best satisfies the Problem, Vision and Values 
Statement? Pages 17-19 

• Express Bus 

CO : \0 
• Light Rail 

\0 b 

4. What type of overall road improvements YES NO 
best satisfies the Problem, Vision 'and Values 
Statement? Pages 20-26 

• 3 Lanes 

\0 0 
• Add a 4 Lane 

5A. Will we need a new river crossing to satisfy 
the Problem, Vision and Values Statement? \0 

5B. If yes, what type(s) of river crossing best 
satisfy the Problem, Vision and Values 
Statement? 

YES NO 

• New 4-lane supplemental bridge for 
express bus, HOV, and Hayden Island 0 \0 . 

Access Page 27 

• New lane supplemental bridge for LRT, 
/} ~1tnd Hayden Island Access \ 0 0 
v . Page 28 

• New supplemental bridge for L~:;g~n~~ ~J . k 
• Supplemental 6-lane bridge Page 30 

'(j to. 
• New supplemental 6-lane bridge with 

separate LRT bridge Page 32 0 \0 

, 

, 

C~~ ~D+ ~tr"(f- . 

r ,. ' 

1 



Transportation and Trade 

Partnership 
5B. If yes, what type( s) of river crossing best YES NO 
cont. satisfy the Problem, Vision and Values 

Statement? 

GA. 

6B. 

7A. 

8. 

• New supplemental 6-lane bridge with 
joint-use LRT Page 33 () 

• New l a-lane replacement bridge Page 34 

• New la-lane replacement bridge with 
separate LRT bridge Page 36 

• New la-lane replacement bridge with 

D 

}t] 

Jo 

10 

joint-use LR,T Page 37 '1 /0 
• New supplemental tunnel concept 

Page 38 

Will policy actions such as land use, 
taxation and .TDM, alone, satisfy the ,l I 
Problem, Vision and Values Statement? ~ La 
If NO, should they be considered in 
combination with other improvements? \tD 0 
Which of the problem spot improvements YES NO 
do we need to satisfy the Problem, Vision and , 
Values Statement? 

tWJw~~~~c;q~~~ the Fremont 

se Quarter Arela~ . 0 \0 
• Widen 1-5 to 3 lanes between Delta Park 

and Lombard 
11 

o 
• Add on and off ramps at Columbia Blvd. 

N . lw~A Page 23 IP 
• Relocate Hayden Island Interchange to 

Marine Dr. Interchange (valid only if no 
new river crossing is selected) 

24 
• Modify 1-5 interchanges in Vancouver 

between SR 14 and SR 500 
P 25 

• Northbound HOV in Clark County 
Page 26 

Will doing nothing more than baseline 
satisfy the Problem, Vision and Values 
Statement? P 8-12 

\'0 

9. Assuming the Final Strategic Plan will include some or all of the fo afttftf.re iOo po!(~~een the strategies to indicate 
your initial impression as to the general composition of the overall approach, and the relative contribution of individual elements to 
the whole. (Examples - If you believe all will contribute equally'give each 10 points. If you believe one or more elements will not be part 
of the solution, assign "0" points. If you believe the plan should include 5 elements contributing a different value, you might score "40, 
25, 20, 10, 5" with "0" for the rest.): 

/0 Land use policy changes TDD , 10 

0 ~t:-Arteri'ftl.- :6 Ii':Q1iU; lalu~s-

ID Commuter Rail to River crossing 1-121 IN! fl~'(lJ.1 (2.. /a",R'?) 

0 ~~ 10 Spot improvements (}{)t#«6ia)j# 

)0 t Light rail 1v aa"L:. (clttj,L ?,o Transportation demand management 

10. Additional comments on your impressions and this process : 
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INITIAL Il\tPRESSIONS SURVEY 
9/25(01 

This is a ANONYMOUS, ON-BINDING survey designed to get your initial reactions to the specific design elements in the option packages 
and some 0 the other issues facing the Task Force. The results will be used to focus subsequent discussions, present Ihe evaluation factors in 
a concise manner, and track our progress toward consensus. Thank you. 

For each Decision Tree question, you have 10 points to allocate between the choices. EXAM~LES: If your initial impression is that "YES" is 
the clear answer - no doubt about it - you might note your impression as "YES: 10 and NO: 0." If you are uncertain, you might note "YES: 5 
NO: 5." If you favor YES, but it's a close call, you might note "YES 6 and NO 4." 

Decision Tree Questions 

lA. 

IB. 

2A. 

2B. 

Question 

Will a West Arterial Road, by itself, satisfy 
the Problem, Vision and Values Statement? 
Pages 13-15 

If NO, should it be considered in 
combination with other improvements? 

Will Commuter Rail, by itself, satisfy the 
Problem, Vision and Values Statement? 
Page 16 

If NO, should it be considered in 
combination with other improvements? 

YES NO Comments 

10 

/:" ::) " 
I.} I .'0 

~f AlE 
b/u4, '\\'~?::r~~ -+~I~ 

10 
. -r~ ~ 

6 ·L} .. . ~ :.~~_ , , ! ~J"Y'~ 
r---~----------------------------------4-----~~--

3, What type of overall transit improvements YES NO 
best satisfies the Problem, Vision and Values 
Statement? Pages 17-19 

• Express Bus 

• Light Rail rr: +~ h,ts ~( 

, f ~."\J\~r~~+ Vo.l~ 
r---~------------~--------------------4-----~~--

\0 , .. ~~ ; I '. 

Ba~ 
4. 

SA. 

5B. 

What type of overall road improvements 
best satisfies the Problem, Vision and Values 
Statement? Pages 20-26 

• :3 Lanes 

• Add a 4 Lane 

Will we need a new river crossing to satisfy 
the Problem, Vision and Values Statement? 

If yes, what type(s) of river crossing best 
satisfy the Problem, Vision and Values 
Statement? 

• New 4-lane supplemental bridge for 
express bus, HOV, and Hayden Island 

Access Page 27 

• New 4-lane supplemental bridge for LRT, 
HOV, and Hayden Island Access 

Page 28. 

• New supplemental bridge for LRT only 
Page 29 

• Supplemental 6-lane bridge Page 30 

• New supplemental 6-lane bridge with 
separate LRT bridge Page 32 

YES NO , 
"" 

" . 

/J. ~. I J' ~ ':;2-
"~ .. 

YES 

8 2-

9 ~ 

7· J 
<{ I~ lXfaM 

~ ; ' 
I 

J 

I. 
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Transportation and Trade 

Partnership 
5B. If yes, what type(s) of river crossing best YES NO 
cont. satisfy the Problem, Vision and Values 

Statement? 

• New supplemental 6-lane bridge with 
joint-use LRT Page 33 fJ 

• New la-lane replacement bridge Page 34 

• New la-lane replacement bridge with 
separate LRT bridge Page 36 

• New lO-lane replacement bridge with 
joint-use LRT Page 37 

• New supplemental tunnel concept 
Page 38 

6A. Will policy actions such as land use, 
taxation and TDM, alone, satisfy the 
Problem, Vision and Values Statement? 

6B. If NO, should. they be considered in 
combination with other improvements? 

7 A. Which of the problem spot improvements 
do we need to satisfy the Problem, Vision and 
Values Statement? 

c;j 

-t./ 

f!l ' ,~ , } .. 
) .. 
:-:c.

J 

(0 
YES 

• .-WTden I 5 to 3 l!t~ between the Fremont 
Bridge and 1-84 (Rose Quarter Area) 8 

£<\~s ~~"rob~ 1i..w.- P 12 

• Widen 1-5 to 3 lanes between Delta Park 
and Lombard 

11 
• Add on and off ramps at Columbia Blvd. 

Pagel3 ~ 

• Relocate Hayden Island Interchange to 
Marine Dr. Interchange (valid only if no 

new river crossing is selected) 
P 24 

I~ 

10 

\r~ 

(eJ 

"~\ ~ .. '~) ~ , 

",\. , ... , 

0 

NO 

• Modify I-5 interchanges in Vancouver 
between SR 14 and SR 500 

25 J( 

8. 

• Northbound HOV in Clark County 
Page 26 

Will doing nothing more than baseline 
satisfy the Problem, Vision and Values 
Statement? P 8-12 ' 

~ __ ~ ________ ~~ ____________________ L-__ -L ____ ~ ______________________________________________ ~~~ ' 

J, 9. Assuming the Final Strategic Plan will include some or all of the following, allocate 100 points between the listed strategies to indicate 
your initial impression as to the general composition of the overall approach, and the relative contribution of individual elements to 
the whole. (Examples - If you believe all will contribute equally give each 10 points. If you believe one or more elements will not be part 
of the solution, assign "0" points. If you believe the plan should include 5 elements contributing a different value, you might score "40, 
25,20,10,5 " with "O " /or the rest.): 

(0 Land use policy changes S Three lanes 

10 West Arterial 0 Four lanes 

~ Commuter Rail -S River crossing 

10 Express bus S Spot improvements 

I Id Light rail ere Transportation demand management 
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Transportation and Trade 

Partnership 

, I 

INITIAL -IMPRESSIONS SURVEY 
9/25/01 

This is an ANONYMOUS, NON-BINDING survey designed to get your initial reactions to the specific design elements in the option packages 
and some of the other issues facing the Task Force. The resl-llts will be used to focus subsequent discussions, present the evaluation factors in 
a concise manner, and track our progress toward consensus, Thank you. 

For each Decision Tree question, you have 10 points to allocate between the choices. EXAMJ;>LES: If your initial impression is that "YES" is 
the clear answer - no doubt about it - you might note your impression as "YES ~ 10 and NO: 0." If you are uncertain, you might note "YES: 5 
NO: 5." If you favor YES, but it's a close call, you might npte "YES ', 6 and NO 4." 

Decision Tree Questions 

Question YES NO Comnients 

lA. Will a West Arterial Road, by itself, satisfy 
the Problem, Vision and Values Statement? 
Pages 13-15 

lB. If NO, should it be considered in 
combination with other improvements? 

2A. Will Commuter Rail, by itself, satisfy the 
Problem, Vision and Values Statement? 
Page 16 

2B. If NO, should it be considered in 
combination with other improvements? 

3. What type of overall transit improvements 
best satisfies the Problem, Vision and Values 
Statement? Pages 17-19 

• Express Bus 

• Light Rail 

3 I 

~ 4 
\ q 

q \ 
YES ·NO 

4. What type of overall road improvements YES NO 
best satisfies the Problem, Vision and Values 

SA. 

5B. 

Statement? Pages 20-26 

• 3 Lanes 

• Add a 4 Lane 

Will we need a new river crossing to satisfy 
the Problem, Vision and Values Statement? 

If yes, what type(s) of river crossing best 
satisfy the Problem, Vision and Values 
Statement? 

• ~<I e supplemental bridge for 
express b~, OV, and Hayden Island 

Access Page 

• New 4-lane supplemel)tal bridge 
HOV, and Hayden Island "'''''''.:MS'' 

Page 28 

10 .0· 

. ~ .' .f,; I 

. YES NO 

• New supplemental bridge for LRT only \ ~ fA 
Page 29, "\ VJ 

• Supplemental 6-lane bridge Page 30 

• New supplemental 6-lane bridge with 
separate LRT bridge Page 32 

\ 

\ 

(~ 

C~t..4-

" . 
, , 

:> 

w 



Transportation and Trade 

Partnership 
58. If yes, what type(s) of river crossing best 
cont. satisfy the Problem, Vision and Values 

Statement? 

YES NO 

• New supplemental 6-lane bridge with fA 
joint-use LRT Page 33 \ ~ \ 

• New I O-Iane replacement bridge Page 34 ,'0 0 
• New I O-Iane replacement bridge with ,U separate LRT bridge Page 36 C) 
• New 10-lane replacement bridge with 

joint-use LRT Page 37 \) 1) \ 
• New supplemental tunnel concept 

Page 38 0 
6A. Will policy actions such as land use, 

taxation and TDM, alone, satisfY ,the 
Problem, Vision and Values Statement? 

0 '1° 
6B. If NO, should they be considered in 

combination with other improvements? 1 3 
7A. Which of the problem spot improvements YES NO 

do we need to satisfy the Problem, Vision and 
Values Statement? 

etween the Fremont 
Bridge and 1-84 (Rose Quarter Area) 10 0 

12 
• Widen 1-5 to 3 lanes between Delta Park 

and Lombard \0 0 
P 11 

• Add on and off ramps at Columbia Blvd. 
0 S Page 23 

• Relocate Hayden Island Interchange to 
Marine Dr. Interchange (valid only if no 

0 
:; 

new river crossing is selected) 
P 24 

• Modify 1-5 interchanges in Vancouver '1 between SR 14 and SR 500 J P 25 
• Northbound HOV in Clark County 

(0 Page 26 0 
8. Will doing nothing more than baseline 

satisfy the Problem, Vision and Values 5: 5" " 

Statement? 8-12 : 

9. Assuming the Final Strategic Plan will include some or all of the following, allocate 100 points between the listed strategies to indicate 
your initial impression as to the general composition of the overall approach, and the relative contribution of individual elements to 
the whole. (Examples - If you believe all will contribute equally give each 10 points. If you believe one or more elements will not be part 
of the solution, assign "0" points. If you believe the pl{111 should include 5 elements contributing a different value, you might score "40, 
25. 20,10.5 " with "O"for the rest.): 

_-'(I.....D __ Land use policy changes W Three lanes - ----

West Arterial ----
_ --,1,--0 __ Four lanes 

Commuter Rail 
----

1 0 River crossing \ .. / 
-----''---=--

L b Express bus t/ 
---"'---

3 () Spot improvements -----

\ 0 Light rai I J ' Transportation demand management 
- - ---

10. Additional comments on your impressions and proces:, ) 

,~~~, 
2 



Transportation and Trade 

Partnership 

INITIAL IMP.RESS~ONS SURVEY 
9/25/01 

, . 
This is an ANONYMOUS, NON-BINDING survey designed 'to get yo'ur incitial reactions to the specific design elements in the option packages 
and some of the other issues facing the Task Forr;e. The results~iff be ust;d to focus subsequent discussions, present the evaluation factors in 
a concise manner, and track our progress toward consensus. Thank you. . 

For each Decision Tree question, you have 10 points to allocate between the choices. , EXAMPLES; If your initial impression is that "YES" is 
the clear answer - no doubt about it - you might note your impression as "YES: 10 and NO: 0." If you are uncertain, you might note "YES: 5 
NO: 5." If you favor YES, but it's a close call, you might note "YES 9 and NO 4.'~ 

Decision Tree Questions 

Question 

lA. Will a West Arterial Roaq, by itself, satisfy 
the Problem, Vi'sion and Values Statement? 
Pages 13-15 

lB. If NO, should it be cons~dered in 
combination with other improvements? 

2A. Will Commuter Rail, by itself, satisfy the 
Problem, Vision and Values Statement? 
Page 16 

2B. If NO, should it be considered in 
combination with other improvements? 

3. What type of overall transit improvements 
best satisfies the Problem, Vision and Values 
Statement? Pages j 7-19 

4. 

SA. 

5B. 

• Express Bus 

• Light Rail 

What type of overall road improvements 
best satisfies the Problem, Vision and Values 
Statement? Pages 20-26 

• 3 Lanes 

• Add a4 Lane 

Will we need a new river crossing to satisfy 
the Problem, Vision and Values Statement? 

If yes, what type(s) of river crossing best 
satisfy the Problem, Vision and Values 
Statement? 

• 

• 

• New 4-lane supplementa,l bridge for 
I express bus, HOV, and Hayden Island· 

Access Page 27 
I 

New 4-lane supplemental bridge for LRT, . 
HOV, and Hayden Island Access 

Page 28 

New supplemental bridge for LRT only 
Page 29 

• Supplemental 6-lane bridge Page 30 

• New supplemental 6-lane bridge 'with 
separate LRT bridge Page 32 

YES NO Comments 

() () 
YES NO 

I' 

" . 

3-
. , 

'1 · 
J ~~¥tf>\ 6\fMAes:'..- ~I~D (}'~\i~ Lf /; lv,.~ 

'\ Cil1V\\t.' OJ1p~~ ~ 'tl 0 

\0 

,0 ,0 

. ~ S 

~·' S .. ' . 



· .. ,\ Transportation and Trade 

~iif.> Partnership 
5B. If yes, what type(s) of river crossing best 
cont. satisfy the Problem, Vision and Values 

Statement? 

• New supplemental 6-lane bridge with 
joint-use LRT Page 33 

• New la-lane replacement bridge Page 34 

• New la-lane replacement bridge with 
separate LRT bridge Page 36 

• New lO-lane replacement bridge with 
joint-use LRT Page 37 

• New supplemental tunnel concept 

YES Np . 

o (0 

() 

Page 38 3 1 
GA. Will polic~act~sucb as land use. 

taxation and 1DM .. alone, satisfy the 
Pro61em;Vision and Values Statement? 

GB. If NO, should they be considered in 
combination with other improvements? 

7A. Which of the problem spot improvements 
do we need to satisfy the Problem, Vision and 
Values Statement? 

• w;.e.s~ between the Fremont 
Bridge and 1-84 (Rose Quarter Area) 11> 

12 o 

8. 

• Widen 1-5 to 3 lanes between Delta Park 
and Lombard 

P 11 
• Add on and off ramps at Columbia Blvd. 

Page 23 

• Relocate Hayden Island Interchange to 
Marine Dr. Interchange (valid only if no 

new river crossing is selected) 
24 

• Modify 1-5 interchanges in Vancouver 
between SR 14 and SR 500 

25 
• Northbound HOV in Clark County 

Page 26 

Will doing nothing more than baseline 
satisfy the Problem, Vision and Values 
Statement? 8-12 

,n ' j ) 

9. Assuming the Final Strategic Plan will include some or all of the following, allocate 100 points between the listed strategies to indicate 
your initial impression as to the general composition of tbe overall app~oach, and the relative contribution of individual elements to 
the whole. (Examples - If you believe all will contribute equally give each 10 points. If you believe one or more elements will not be part 
of the solution, assign "0" points. If you believe the plan should include 5 elements contributing a different value, you might score "40, 
25, 20, 10, 5" with "0" for the rest.): . 

5 Land use policy changes -\S Three lanes 

West Arterial \5 Four lanes 

Commuter Rail \'5 River crossing 

\\) Express bus \'\) Spot improvements 

J...S Light rail 5 Transportation demand management 

10. Additional comments on your impressions and this process: 

2 
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Transportation and Trade 

Partnership, 

INITIAL ,IMPRESSIONS SURVEY , 
9/25/01 

This is an ANONYMOUS, NON-BINDING survey designed to get 'your initial reactions to the specific design elements in the option packages 
and some of the other issues facing the Task Force. The results will be used to focus subsequent discussions, preSf!nt the evaluation factors in 
a concise manner, and track our progress toward consensus. 'Thank you. ' 

For each Decision Tree question, you have 10 points to allocate between 'the choices. 'EXAMPLES: If your initial impression is that "YES" is 
the clear answer - no doubt about it - you might note your impression as "YES: 10 and NO: 0." If you are uncertain, you might note "YES: 5 
NO: 5." If you favor YES, but it's a close call, you might note "YES 6 and NO 4." , 

Decision Tree Questions 

lA. 

lB . 

2A. 

2B. 

3. 

4. 

SA. 

5B. 

Question 

Will a West Arterial Road, by itself, satisfy 
the Problem, Vision and Values Statement? 
Pages 13-15 

If NO, should it be considered in 
combination with other improvements? 

Will Commuter Rail, by itself, satisfy the 
Problem, Vision and Values Statement? 
Page 16 

If NO, should it be considered in 
combination with other improvements? 

What type of overall transit improvements 
best satisfies the Problem, Vision and Values 
Statement? Pages 17-19 

• Express Bus 

• Light Rail 

What type of overall road improvements 
best satisfies the Problem, Vision and Values 
Statement? Pages 20-26 

• 3 Lanes 

• Adda4 Lane 

Will we need a n,ew river crossing to satisfy 
the Problem, Vision and Values Statement? 

If yes, what type(s) of river crossing best 
satisfy the Problem, Vision and Values 
Statement? 

• New 4-lane supplemental bridge for 
express bus, HOV, and Hayden Island 

Access Page 27 

• New 4-lane supplemental bridge for LRT, 
HOV, and Hayden Island Access 

Page 28 

• New supplemental bridge for LRT only 
Page 29 

• Supplemental 6-lane bridge Page 30 

• New supplemental 6-lane bridge with 

YES 'NO Comments 

/0 
/ 

~ ') 

10 

to 
YES NO 

1° I' 

f) , 
YES ' NO , 

: 

\0 

" \ C\ 

YES NO 

\ , 

1.0. 

separate LRT bridge Page 32 I\) 

V G.M. Co V'-- u d 

~Y'll l/V't 

e, 



Transportation and Trade 

Partnership 
5B. If yes, what type( s) of river crossing best YES NO 
cont. satisfy the Problem, Vision and Values 

Statement? 

• New supplemental 6-lane bridge with 
joint-use LRT Page 33 10 

• New 1 O-Iane replacement bridge Page 34 

/0 
• New I O-Iane replacement bridge with 

separ:ate LRT bridge Page 36 
{O 

• New I O-Iane replacement bridge with 
joint-use LRT Page 37 to 

• New supplemental tunnel concept 
Page 38 ro 'lj 

GA. Will pOlicy actions such as land use, 
taxation and TOM, alone, satisfy' the 

10 Problem, Vision and Values Statement? 

GB . IfNO, should they be considered in 
combination with other improvements? /0 

7A. Which of the problem spot improvements YES NO 
do we need to satisfy the Problem, Vision and 
Values Statement? 

• ~s between the Fremont 
'dge and 1-84 (Rose Quarter Area) 

1 b 12 6 

and Lombard rU P 11 

• Add on and off ramps at Columbia Blvd . 
Page 23 1 3 ./ D-- ~e. ~Jr dR>!' 

• Relocate Hayden Island Interchange to 
Marine Dr. Interchange (valid only ifno 

''0 (0 new river crossing is selected) 
24 

• Modify 1-5 interchanges in Vancouver 

IA~ between SR 14 and SR 500 ~ G hD ~ ~{O ~UQvcY 25 
• Northbound HOV in Clark County 

? Page 26 

8. Will doing nothing more than baseline , 
satisfy the Problem, Vision and Values ~, « Statement? 8-12 

9. Assuming the Final Strategic Plan will include some or all of the following, allocate 100 points between the listed strategies to indicate 
your initial impression as to the general composition of the overall approach, and the relative contribution of individual elements to 
the whole. (Examples -If you believe all will contribute equally give each 10 points. If you believe one or more elements will not be part 
of the solution, assign "0" points. If you believe the plan should include 5 elements contributing a different value, you might score "40, 
25,20,10, 5"with "0 "for the rest.): 

2 / ) Land use policy changes 2:) Three lanes 

1'0 W est Arterial 0 Four lanes 

0 Commuter Rail (0 River crossing 

t2 Express bus /0 Spot improvements 

2-') Light rail I~ Transportation demand management 

10. Additional comments on your impressions and this process: 
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Transportation and Trade 

Partnership 

INITIAL IMPRESSIONS SURVEY 
9125/01 

This is an ANONYMOUS, NON-BINDING survey designed to get your initial reactions to the ~pecific design elements in the option packages 
and some of the other issues facing the Task Force. Thr; results will be used to focus subsequent discussions, present the evaluation factors in 
a concise manner, and track our progress toward consensus. Thank you. 

For each Decision Tree question, you have 10 points to allocate between the choices. EXAMPLES: If your initial impression is that "YES" is 
the clear answer - no doubt about it - you might note your impression as "YES: 10 'and NO: 0." If you are uncertain, you might note "YES: 5 
NO: 5." If you favor YES, but it's a close call, you might note "YES 6 and NO 4." 

Decision Tree Questions 

Question ' YES NO Comments 

IA. Will a West Arterial Road, by itself, satisfy 
the Problem, Vision and Values Statement? 
Pages 13-15 

IB. If NO, should it be considered in 
combination with other improvements? 

2A. Will Commuter Rail, by itself, satisfy the 
Problem, Vision and Values Statement? 
Page 16 

2B. If NO, should it be considered in 
combination with other improvements? 

o ,J.O 

o /D 

3. What type of overall transit improvements YES , NO 
best satisfies the Problem, Vision and Values 
Statement? Pages 17-19 

• Express Bus 

o 
• Light Rail 

4. What type of overall road improvements YES ' NO, . 
best satisfies the Problem, Vision and Values 

SA. 

5B. 

Statement? Pages 20-26 

• 3 Lanes 

• Add a 4 Lane 

Will we need a new river crossing to satisfy 
the Problem, Vision and Values Statement? 

If yes, what type(s) of river crossing best 
satisfy the Problem, Vision and Values 
Statement? 

• New 4-lane supplemental bridge for 

10 ·0 

o 10" 

/D o 
YES NO 

express bus, HOV, and Hayden Island ' l 'q 
Access Page 27 

• New 4-lane supplemental bridge for LRT, 
HOV, and Hayden Island Access fJ- 2~ 

Page 28 

• New supplemental bridge for LRT only 

Page 29 ~ 4 
• Supplemental 6-lane bridge Page 30 

6 /'(y " 
, ~ \" 

• New supplemental 6-lane bridge with 
separate LRT bridge Page 32 () / f) 

I' 

.. 

1 



Transportation and Trade 

Partnership 
5B. If yes, what type(s) of river crossing best YES NO 
cont. satisfy the Problem, Vision and Values 

Statement? 

6A. 

6B. 

7A. 

8. 

• New supplemental 6-lane bridge with 
joint-use LRT Page33 q b 

• New la-lane replacement bridge Page 34 

'(Y '. It) 
• New la-lane replacement bridge with 

separate LRT bridge Page 36 to i 
• New la-lane replacement bridge with 

joint-use LRT Page 37 10 0 

• New supplemental tunnel concept 
Page '38 ~ Z, 

Will policy actions such as land use, 
taxation and TDM, alone, satisfy the 
Problem, Vision and Values Statement? 

If NO, should they be considered in 
combination with other improvements? 

Which of the problem spot improvements 
do we need to satisfy the Problem, Vision and 
Values Statement? 

• Widen 1-5 to 3 lanes between the Fremont 
Blidge and 1-84 (Rose QUciIier Area) 

P 12 
• Widen 1-5 to 3 lanes between Delta Park 

and Lombard 
Pa 11 

• Add on and off ramps at Columbia Blvd. 
Page 23 

• Relocate Hayden Island Interchange to 

to 0 
YES ' NO 

Ib () 

/0 .() 

It) 0 

Marine Dr. Interchange (valid only if no 0 /0 
new river crossing is selected) 

24 
• Modify 1-5 interchanges in Vancouver 

between SR 14 and SR 500 I () 
25 o 

• Northbound HOV in Clark County 
Page 26 .1 9 

Will doing nothing more than baseline 
satisfy the Problem, Vision and Values 
Statement? 8-12 

() it) 

2. LItNIEJ &P, THI<D/..x:.l-I, I LA-AJtE /10 7Jf~o(/6~ 

I I}DD tJ~op (S£-/t/ 7'l> H4rOtN"~ / ~r; CA. 

9. Assuming the Final Strategic Plan will include some or all of the following, allocate 100 points between the listed strategies to indicate 
your initial impression as to the genetal composition of the overall approach, and the relative contribution of individual elements to 
the whole. (Examples - If you believe all .will contribute equally give each 10 points. If you believe one or more elements will not be part 
of (he solution. assign "0" points. If you believe the plan should include 5 elements contributing a different value, you might score "40. 
25. 20.10. 5"with "0 "for the rest.): 

r 
!J Land use policy changes 20 Three lanes 

] West Arterial 6 Four lanes 

0 Commuter Rail 0 River crossing 

,k Express bus /5 Spot improvements 

sD Light rail J- Transportation demand management 

10. Additional comments on your impressions and this process: 

2 



Transportation and Trade 

Partnership 

INITIAL IMPRESSIONS SURVEY 
9/25/01 

w 

This is an ANONYMOUS, NON-BINDING'survey designed to get yOlJr initial reactions to the specific design elements in the option packages 
and some of the other issues facing the Task Force. The results will be used to focus subsequent discussions, present the evaluation factors in 
a concise manner, and track our progress toward consensus. Thank you. . 

For each Decision Tree question, you have 10 points to allocate between the choic~s. EXAMPLES: If your initial impression is that "YES" is 
the clear answer - no doubt about it - you might note your impression as "YES: 10 and NO: 0." If you are uncertain, you might note "YES: 5 
NO: 5." If you favor YES, but it's a close call, you might note "YES 6 and NO 4." 

Decision Tree Questions 

Question YES NO Comments , 

lA. Will a West Arterial Road, ~itself, satisfy 
the Problem, Vision andValues Statement? 
Pages 13-15 

lB. If NO, should it be considered in 
combination with other improvements? 

2A. Will Commuter Rail , by itself, satisfy the 
Problem, Vision and Values Statement? 
Page 16 

2B. lfNO, should it be considered in 
combination w~th other improvements? 

fj 10 

o 10 

57 
3. What type of overall transit improvements YES NO 

best satisfies the Problem, Vision and Values 

4. 

Statement? Pages 17-19 

• Express Bus 

• Light Rail ' 4- 0 

What type of overall road improvements 
best satisfies the Problem, Vision and Values 
Statement? Pages 20-26 

• 3 Lanes 

• Add a 4 Lane , 

YES NO I 

.. ' 

7 "} 

SA. Will we need a new river crossing to satisfy 
the Problem, Vision and Values Statement? 10 D, 

5B. If yes, what type( s) of river crossing best 
satisfy the Problem, Vision and Values 
Statement? 

YES, NO ,: 

• New 4-lane supplemental bridge for 
express bus, HOV, an Ad Haydepn Isla

2
nd

7 
&; Y-

ccess age 

• New 4-lane supplemental bridge for LRT, 
HOV, and Hayden Island Access 1.0 y 

Page 28 

• New supplemental bridge for LRT only /)... '7 
Page 29 ...J 

• Supplemental 6-lane bridge Page 30 

• New supplemental 6-lane bridge with f) 
separate LRT bridge Page 32 t-, 

. '. 

~ ~V\A)\.V ", b-u.t ,~ + 
J , ' f. 



.:' Transportation and Trade 

.<1".>' Partnership 
5B. If yes, what type(s) of river crossing best 
cont. satisfy the Problem, Vision and Values 

Statement? 

GA. 

6B. 

7A. 

8. 

• New supplemental 6-lane bridge with 
joint-use LRT Page 33 

• New la-lane replacement bridge Page 34 

• New la-lane replacement bridge with 
separate LRT bridge Page 36 

• New la-lane replacement bridge with 
joint-use LRT Page 37 

• New supplemental tunnel concept 
Page 38 

Will policy actions such as land use, 
taxation and TDM, alone, satisfy the 
Problem, Vision and Values Statement? 

IfNO, should they be considered in 
combination with other improvements? 

Which of the problem spot imp-rovements 
do we need to satisfy the Problem, Vision and 
Values Statement? 

between the Fremont 
Bridge and 1-84 (Rose Quarter Area) 

12 
• Widen i-5 to 3 lanes between Delta Park 

and Lombard 
Jl 

• Add on and off ramps at Columbia Blvd . 
Page 23 

• Relocate Hayden Island Interchange to 
Marine Dr. Interchange (valid only if no 

new river crossing is selected) 
24 

• Modify 1-5 interchanges ih Vancouver 
between SR 14 and SR 500 

P 25 

• Northbound HOV in Clark County 
Page 26 

Will doing nothing more than baseline 
satisfy the Problem, Vision and Values 
Statement? Pa 8-/2 

YES NO 

I 

/ 

, 1 

ID 10 
YES .NO 

7 5 

10 · D 

~ .~ 
'-l-lCVV'-

~lr(J(5J ~ 

(0 0 

~ ~ 

1- 't 
0 ·\0 

9. Assuming the Final Strategic Plan will include some or all of the following, allocate 100 points between the listed strategies to indicate 
your initial impression as to the general composition of the overall approach, and the relative contribution of individual elements to 
the whole. (Examples - If you believe all will contribute equally give each 10 points. If you believe one or more elements will not be part 
of the solution, assign "0" points. If you believe the plan should include 5 elements contributing a different value, you might score "40, 
25, 20, 10, 5" with "0" for the rest.): 

,0 Land use policy changes L3 Three lanes 

3 · West Alierial 5' Four lanes 

2~ Commuter Rail 2-0 River crossing 

'La Express bus L{) Spot improvements 

Lo Light rail 7, Transportation demand management 

10. Additional comments on your impressions and this process: 

2 



Transportation and Trade 

Partnership 

INITIAL IMPREssioNS SURVEY 
9/25/01 

This is an ANONYMOUS, NON-BINDING survey designed to get Y9u; initial reactions to the specific design elements in the option packages 
and some of the other issues facing the Task Force. The results will be used to focus subsequent discussio~s, present the evaluation factors in 
a concise manner, and track our progress toward consensus. Thank you. ' . , ' 

For each Decision Tree question, you have 10 points to allocate between the choices. EXAMPLES: ·If your initial impression is that "YES" is 
the clear answer - no doubt about it - you might note your impression ~s "YES: 10 and NO: 0." If you are uncertain, you might note "YES: 5 
NO: 5," If you favor YES, but it's a close call, you might note ~'YES 6 ,and NO 4," 

Decision Tree Questions 

Question YES ~O Comment~ 

1A. 

IB. 

2A. 

2B. 

3. 

Will a West Arterial Road, by itself, satisfy 
the Problem, Vision and Values Statement? 
Pages 13-15 

If NO, should it be considered in 
combination with other improvements? 

Will Commuter Rail, by itself, satisfy the 
Problem, Vision and Values Statement? 
Page 16 

If NO, should it be considered in 
combination with other improvements? 

What type of overall transit improvements 
best satisfies the Problem, Vision and Values 
Statement? Pages 17-19 

• Express Bus 

• Light Rail 

o 10 

7· 3 
10 

YES NO . , 

7 ' 2> 
4. What type of overall road improvements YES NO 

best satisfies the Problem, Vision and Values 

SA. 

5B. 

Statement? Pages 20-26 

• 3 Lanes 

• Add a4 Lane 

Will we need a new river crossing to satisfy 
the Problem, Vision and Values Statement? 

If yes, what type(s) of river crossing best 
satisfy the Problem, Vision and Values 
Statement? 

10 D 

YES 

• New 4-lane supplemental bridge for 
express bus, HOV, and Hayden Island ,~ ' . ~::<. . 

Access Page 27 

• New 4-lane supplemental bridge for LRT, 
HOV, and Hayden Island Access 7 . 3 ' " 

P(lge 28 

• New supplemental bridge for LRT only 
Page 29 

• Supplemental 6-lane bridge Page 30 

• New' supplemental 6-lane bridge with 
separate LRT bridge Page 32 

" 

&(. " -4' ~.' " 

. .,' 

' I 

, I: , 

p'r-e-Rr ' 
b\~~ ' 

Oddll:) 4~ lane 
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Transportatioh and Trade 

Partnership 
5B. If yes, what type(s) of river crossing best YES NO ' 
cont. satisfy the Problem, Vision and Values 

Statement? 

• New supplemental 6-lane bridge with 
joint-use LRT Page 33 "6f 1 

• New la-lane rep lacement bridge Page 34 

3' 7 
• New la-lane replacement bridge with 

separate LRT bridge Page 36 0. 4 
• New la-lane replacement bridge with 

joint-use LRT Page 37 r ' 2" 
• New supplemental tunnel concept 

Page 38 q 
6A. Will policy actions such as land use, 

taxation and TDM, alone, satisfy the 0' 0 
Problem, Vision and Values Statement? 

6B . If NO, should they be considered in 
combination with other improvements? , 0 0 

7A. Which of the problem spot improvements YES NO 
do we need to satisfy the Problem, Vision and 

8. 

Values Statement? 

:SW~iHb~-ffr-:Hcmes between the Fremont 
ridge and 1-84 (Rose Quarter Area) lCO I't) 

• 
P 12 

Widen 1-5 to 3 lanes between Delta'Park 
and Lombard 

. 1] 

• Add on and off ramps at Columbia Blvd. 
Page 23 to 

• Relocate Hayden Island Interchange to 
Marine Dr. Interchange (valid only if no '0 

new river crossing is selected) 
P 24 

• Modify 1-5 interchanges in Vancouver y 
between SR 14 and SR 500 0 

25 
• Northbound HOV in Clark County 

Page 26 Gf \ 
Will doing nothing more than baseline 
satisfy the Problem, Vision and Values 
Statement? 8-'12 

/0 

9. Assuming the Final Strategic Plan will include some or all of the following, allocate 100 points between the listed strategies to indicate 
your initial impression as to the genentl composition of the overall approach, and the relative contribution of individual elements to 
the whole. (Examples - If you believe all will coni'rib~te equally give each 10 points. If you believe one or more elements will not be part 
a/the solution, assign "0" points. If you believe the plan should. include 5 elements contributing a different value, you might score "40, 
25, 20, 10, 5" with "0" for the rest.): . . ,\ 

/"0 Land use policy changes 'S\' Three lanes 

10 West Arterial '0 Four lanes 

0 Commuter Rail ·~O River crossing 

to Express bus 3Q Spot improvements 

.2''0 Light rail :s Transportation demand management 
I 

10. Additional comments on your impressions and this process: 

2 



Transportation and Trade 

Partnership 

INITIAL' IMPRESSIONS SURVEY 
'9/25/01 

This is an ANONYMOUS, NON-BINDING survey designed to get your initial reactions to the specific design elements in the option packages 
and some of the other issues facing the Task Force. The results will be used to focus subsequent discussions, present the evaluation fa ctors in 
a concise manner, and track our progress toward consensus. Thank you. . 

For each Decision Tree question, you have 10 points to allocate between the choices. EXAMPLES: If your initial impression is that "YES" is 
the clear answer - no doubt about it - you might note your iIUpression as "YES: 10 and NO: 0." Jfyou are uncertain, you might note "YES: 5 
NO: 5." If you favor YES, but it's a close call, you might note 'fYES 6 and NO 4." 

Decision Tree Questions 

Question YES NO Comments 

lA. Will a West Arterial Road, by itself, satisfy 
the Problem, Vision and Values Statement? 
Pages 13-15 

IB. 

2A. 

If NO, should it be considered in 
combination with other improvements? 

Will Commuter Rail, by itself, satisfy the 
Problem, Vision and Values Statement? 
Page 16 

2B. If NO, should it be considered in 
combination with other improvements? 

'~ 

7 

s. 

3. What type of overall transit improvements YES '. NO 
best satisfies the Problem, Vision and Values 

4. 

/ ' 

Statement? Pages 17-19 

• Express Bus 

• Light Rail 

What type of overall road improvements 
best satisfies the Problem, Vision and Values 
Statement? Pages 20-26 

• 3 Lanes 

• Add a 4 Lane 

5A. Will we need a new river crossing to satisfy 

lb , o 

YES NO 

7 

the Problem, Vision and Values Statement? 10 0 

5B. If yes, what type(s) of river crossing best YES NO · 
satisfy the Problem, Vision and Values 
Statement? 

• New 4-lane supplemental bridge for 
express bus, HOV, and Hayden Island 

Access Page 27 

• New 4-1ane supplemental bridge for LRT, 
HOV, and Hayden Island Access 

Page 28 

• New supplemental bridge for LRT only 
Page 29 

• Supplemental 6-lane bridge Page 30 

.[ ,. 

j . 

q I 

o (0 

• New supplemental 6-lane bridge with tY' 
separate LRT bridge Page 32 D 
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Transportation and Trade 

Partnership 
5B. If yes, what type(s) of river crossing best YES NO 
cont. satisfy the Problem, Vision and Values 

Statement? 

6A. 

6B. 

7A. 

8. 

• New supplemental 6-lane bridge with 
joint-use LRT Page 33 ~ ~ 

• New 10-lane replacement bridge Page 34 

• New 1 O-Iane replacement bridge with 
separate LRT bridge Page 36 .( S--

• New 1 O-lane replacement bridge with 
joint-use LRT Page 37 5' ~ 

• New supplemental tunnel concept ". 
Page 38 . ,J 

Will policy actions such as land use, 
taxation and TDM, alone, satisfy the 0 10 
Problem, Vision and Values Statement? 

IfNO, should they be considered in 
combination with other improvements? 10 0 

Which of the problem spot improvements YES NO 
do we need to satisfy the Problem, Vision and 
Values Statement? 

• Widen 1-5 to 3 lanes between the Fretnont 
Bridge and 1-84 (Rose Quarter Area) (0 : {) 

A~cnt\s tHl{ th1f,fl 12 
• Widen 1-5 to 3 lanes between Delta Park 

and Lombard 10 
11 

• Add on and off ramps at Columbia Blvd. 
Page 23 (0 1) 

• Relocate Hayden Island Interchange to 
Marine Dr. Interchange (valid only ifno 

new river crossing is selected) , IJ 
p " 24 

• Modify 1-5 interchanges in Vancouver, 
between SR 14 and SR 500 9 

, P 25 

• Northbound HOV in Clark County r 
Page 26 r;- ) 

Will doing nothing more than baseline 
satisfy the Problem, Vision and Values 
Statement? 8-12 

o 
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9. Assuming the Final Strategic Plan will include some or all of the following, allocate 100 points between the listed strategies to indicate 
your initial impression as to the general composition of the overall approach, and the relative contribution of individual elements to 
the whole. (Examples - If you believe all will contribute equally give each 10 points. If you believe one or more elements will not be part 
of the solution, assign "0" points. If you believe the plan sh'ould include 5 elements contributing a different value, you might score "40, 
25,20,10,5" with "0 II for the rest.) : 

I~ Land use policy changes 
--'----

Three lanes 
- ----

West Arterial Four lanes 
---- - ----

.r 
So Commuter Rail 10 River crossing 

---- -----

Express bus 
----

---,,-1_0 ___ Spot improvements 

Light rail -----
Transportation demand mimagement 

10, Additional comments on your impressions and this process: 

2 


